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1. BEAZAREITE:
BAEX: BERALAEASOMER | nmol IEWE (MTT) EXA—E/EMELL.
mtGPD &4 (nmol/min/mg prot)=[AAxV2+(gxd)x10°]+(V1xCpr) +T=493.8xAA+Cpr
2. EEAHEITE:
RN SRARENMEE | nmol B (MTT) EXA—NEEE SR,
mtGPD $E {4 (nmol/min/g B8 )=[AAXV2+(exd)x 10°]+(WXV1+V)=T=99 8xAA+W
3. BHMESAEREEITE:
BEEX 1 B MRESAREA SR | nmol ILEE (MTT) EX 30— EG.
mtGPD $E {4 (nmol/min /10* cell)=[AAXV2+(exd)x 10°]+(500x V1=V)=T=0.2xAA
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V- IINREBUR TR, 0.202mL; VI---IIABERGETR, 0.02mL;
V2--- RN R B, 2x10°L; T---R Rz /8], Smin;

W AKRE, g 500---ZHE K AAE 24, 500 77,

Cpr—-HAZEBRNE, mgmL; BIUERRASH BCA ZERSERNIANE.
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